
 #2 Alternate Questions

1.
Blader Co. manufactures a variety of electric razors used by both men and women. The company's plant is partially automated. The company uses an activity-based cost system. Listed below is cost driver information used in the product-costing system:
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Two current product orders had the following requirements:
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a.  Utilizing ABC, how much overhead is assigned to the order for men's razors?


b.  Utilizing ABC, how much overhead is assigned to the order for women's razors? 
2.

Demski Company has used a two-stage cost allocation system for many years.  In the first stage, plant overhead costs are allocated to two production departments, P1 and P2 based on machine hours.  In the second stage, Demski uses direct labor hours to assign overhead costs from the production departments to individual products A and B.


Budgeted factory overhead costs for the year are $300,000. Both the budgeted and actual machine hours in P1 and P2 are 12,000 and 28,000 hours, respectively.


After attending a seminar to learn the potential benefits of adopting an activity-based costing system (ABC), Ted Demski, the president of Demski Company, is considering implementing an ABC system.  Upon his request, the controller at Demski Company has compiled the following information for analysis:
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Demski manufactures two types of product A and B, for which the following information is available:


[image: image4.wmf]A

B

Units produced and sold

 5,000

10,000

Direct materials

$200,000

$250,000

Direct labor costs

$80,000

150,000

Direct labor hours in P1

1,500

3,000

Direct labor hours in P2

1,500

4,000

Setup hours

 700

 300

Inspection hours

1,500

1,000

Power (kilowatt hours)

12,500

12,500

  


Required:


(a)  Determine the unit cost for each of the two products using the traditional two-stage allocation method.


(b)  Determine the unit cost for each of the two products using the proposed ABC system.


(c)  Compare the unit manufacturing costs for product A and product B computed in requirements a and b.


(1) Why do two the cost systems differ in their total cost for each product?


(2) Why might these differences be important to the Demski Company? 
3.
Warrenton Industries manufactures hydraulic components for large automated machine tools.  Myles English, the Vice President for Marketing, has concluded from his market analysis that sales are dwindling for one of the firm's products main products, a hydraulic valve,  because of aggressive pricing by competitors.  Warrenton's product sells for $525 whereas the competition's comparable part is selling in the $425 range.  Mr. English has determined that a price drop to $400 is necessary to regain market share and annual sales of 1,000 units.


Cost data based on sales of 1,000 valves:


[image: image5.wmf]Budgeted

Actual

Actual

Amount

Amount

Cost

Direct Materials

  (sheet metal)

10,000 sq.ft.

11,000 sq.ft.

$55,800

Direct Labor

4,600  hrs.

5,200 hrs.

155,000

Machine Setups

2,500  hrs.

3,000 hrs.

95,000

Mechanical Assembly

3,000  hrs.

4,000 hrs.

140,000

  


Required:


(1)  Calculate the current cost and profit per unit.


(2)  How much of the current cost per unit is attributable to non-value added activities?


(3)  Calculate the new target cost per unit for a sales price of $400 if the profit per unit is maintained.


(4)  What strategy do you suggest for Warrenton to attain the target cost calculated in 3. 

4.
Gail Johnston is the CFO of Lancet Technologies, a manufacturer of parts and supplies for the cable TV industry.  Gail has developed an analysis of the profitability of the firm's two main product lines, cable hardware, and cable supplies.  Based on the analysis, she concludes that cable hardware is the most profitable of the firm's product lines.
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Required:


(1)  Explain why Gail may be wrong in her assessment of the relative performances of the two product lines.


(2)  Suppose that 80 percent of the R & D and selling expenses are traceable to Hardware line.  Prepare life-cycle income statements for each product and calculate the return on sales.  What does this tell you about the importance of accurate life-cycle costing? 
This is the End of Alternate  #2

Alternate  #3
1.

Green Mountain College is a 5,000 student state-supported, four-year institution located in the mid-South. Physical facilities can accommodate another 1,000 students, and the college administration is attempting to estimate the added yearly cost of educating the additional students. The Business Manager of Green Mountain College has asked you to evaluate two linear regressions given below, and recommend the better one to her.
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SC = 4,303 + 143.50 CH
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Where: 
SC = Student cost


            CH = Cost per credit hour


             IS = Incremental cost per student


Required:


a.
Defend your choice of cost function (regression 1 or regression 2) for predicting added student educational costs per year.


b. 
What information value does the standard error of estimate (SE) have in this situation? 
2.

Brown's Compact Disc Store expanded the size of its store in Westfield, NJ two months ago.  The owner, Montgomery Brown, has asked you to develop an analysis of the cost structure in his store, as a basis for assessing the profitability of his business.  He provides you with account data for the most recent month, which he explains is representative of what these costs are in most months of the year; there is not much seasonality in his business.   Last month, May, 890 compact discs were sold.  This month Montgomery expects to sell 1,100 CDs.
	Account
	June
	May

	Salesperson’s Wages
	$2,200
	$1,780

	Compact Disc Purchases
	8,250
	6,675

	Rent
	1,025
	1,025

	Depreciation
	40
	40

	Shopping Bags
	22
	18

	Insurance
	75
	75

	Advertising
	65
	65

	Utilities
	125
	125

	Mr. Brown’s Salary
	    1,850
	    1,850

	
	$13,652
	$11,653




NOTE:  Assume that Mr. Brown purchases promptly on a day-to-day basis to replace inventory, so that the level of inventory remains constant.  
Required:


a.  Develop the cost equation for Mr. Brown's store, using the account classification method, assuming that the cost object is the individual compact disc.


b.  Mr. Brown plans to increase sales by 25% next month, July,  by reducing the price of his compact discs.  Assuming a 25% increase in sales, what is the lowest price Mr. Brown can sell his discs for if he wants to meet all costs plus make $1 profit per disc? 


c.  What would the profit per disc be if sales actually  increased by only 15% and the discs were sold at the price calculated in (2)? 
3.

TexFab manufactures two products, GT450 and GT600 that have the following sales and cost information. 
	
	GT 450
	
	GT600
	
	Total
	

	
	Amount
	%
	Amount
	%
	Amount
	%

	Sales
	$25,000
	100
	$75,000
	100
	100,000
	100.0

	Variable costs
	  20,000
	  80
	  37,500
	  50
	  57,500
	  57.5

	Contribution Margin
	$  5,000
	20
	$37,500
	50
	$42,500
	42.5

	
	
	
	
	
	
	

	Fixed costs
	
	
	
	
	   20,000
	

	Net income
	
	
	
	
	$22,500
	

	
	
	
	
	
	
	




Required


a.  What is the breakeven point in dollars if sales remain at the same sales mix, at $100,000 per month?


b.  If the TexFab Company sells $50,000 of product GT450, and $50,000 of product GT600, what is the breakeven point in sales dollars?  Prepare an income statement for this scenario.


c.  Why does the breakeven point and net income change? 
4.

Fashions, Inc. is a retail store that sells sweaters and jackets. In the past, it has bought all its sweaters from a supplier for $20 per unit.  However, Fashions has the opportunity to acquire a small manufacturing facility where it could produce its own sweaters.  The projected data for producing its own sweaters are as follows:
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Required


a.  If Fashions acquired the manufacturing facility, how many sweaters would it have to produce in order to break even?


b.  To earn an after tax profit of $125,000, how many sweaters would Fashions have to sell if it buys the sweaters from the supplier?  If it produces its own sweaters?  Fashion's tax rate is 30%.


c.  Fashions is indifferent between the two alternatives at sales of how many units (ignore income tax effects)?  Show a computation of operating income to prove your answer. 
5.

Due to the sluggish economy, the Bi-Wheels Company has experienced some difficulty in selling its bicycles.  The following data relates to 2002:
	Sales (9,000 units @ $100)
	$900,000
	

	Less variable costs (9,000 @ $60)
	  540,000
	

	Contribution margin
	$360,000
	

	Less fixed costs
	  400,000
	

	Net loss
	($40,000
	)

	
	
	




Required:


a. 
Compute Bi-Wheels' breakeven point in both units and dollars.  Also, compute the contribution margin ratio.


b.  
The manager believes that a $40,000 increase in advertising would result in a $120,000 increase in annual sales.  If the manager is right, what will be the effect on the company's net income or loss?


c. 
Refer to the original data.  The vice-president in charge of sales is certain that a 10% reduction in price in combination with a $30,000 increase in advertising will cause unit sales to increases by 50%.  What effect would this strategy have on net income (loss)?
d.  
Refer to the original data.  During 2003, Bi-Wheels saved $5 per bicycle by buying from a different manufacturer.  However, Bi-Wheels rent and insurance increased by $5600.  The store sold 11,000 bikes.  What was its net income (loss) for the year? 
6.

Old Castle Vineyard produces premium wine. Its success in the industry is due to its quality, although all of its customers, wine shops and specialty grocery stores, are very cost conscious and negotiate for price cuts on all large orders.  Noting that the wine industry is becoming increasingly competitive, Old Castle is looking for a way to meet the challenge. It is negotiating with Eastern Seasons, a regional specialty grocery store, to purchase a large order of wine. Old Castle is currently producing at under-capacity and would like to keep its production facilities gain better economies of scale by increasing production.  Eastern Seasons has agreed to a large order but only at a price of $25 per bottle. The special order can be purchased in one batch with available capacity.  Old Castle prepared these data:


Next month's operating information (per unit, for 10,000 units, made in 10 batches of 1,000 each)

	Sales price
	$45

	Per unit costs
	

	   Variable manufacturing costs
	19

	   Batch-level costs
	5

	   Variable marketing costs
	8

	   Fixed manufacturing costs
	5

	   Fixed marketing costs
	2

	Special order information
	

	   Sales
	2,000

	   Sales price per unit
	$35

	
	




No variable marketing costs are associated with this order, but Old Castle has spent $2,500 during the past two months trying to get Eastern Seasons to purchase the special order.


Required


a.   How much will the special order change Old Castle's total operating income?


b.   How might the special order fit into Old Castle's competitive strategy? 
This is the end of alternate  #3
